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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 161 10.2 3.6 25 41 100
2 161 12.3 4.2 25 49 100
3 161 14.8 3.1 25 59.1 100
4 161 10.9 3.5 25 43.6 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Answer Mark AO1 AO2 AO3 AO4 


2. (a) Award up to 2 marks for a detailed explanation. 


Likely answers may include: 


• due to faulty genes or other genetic problem
• passed on from parents to child


2 2 


(b) Award up to 3 marks for a detailed explanation. 


Likely answers may include: 


• (faulty gene) is a recessive allele/gene
• need a copy from both parents to have disease
• person with a single copy is a carrier
• person with a single copy doesn’t have the


disease


3 3 


(c) Award 1 mark for each correct answer, up to a 
maximum of 2 marks. 


Likely answers may include any two from: 


• caused by a faulty gene that controls the
movement of salt or water in and out of cells in
the body


• too much salt or not enough water passes into
the cells


• turns the body’s secretions, which normally act
as a lubricant, into a thick mucus


2 2 












Sticky Note

Not suitable as shouldn't have 2 marks anyway.












Sticky Note

2(a)Has inherited from parents mark, and in a roundabout way, enough for the faulty gene - "characteristic.....which can lead to the malfuntion..."



Sticky Note

2(b)Recessive gene, need copy from both parents, clear. Just enough, we felt, that a clear understanding of what a carrier is for the third mark.



Sticky Note

2(c) Clear understanding, all marking points covered (reference to "cell" rather that transport system or gene is ignored).












Sticky Note

2(a)Both marks clearly stated as in mark scheme.



Sticky Note

2(b) Recessive gene, need copy from each parent, third mark is "iffy" here, but as candidate stated that you need two copies to express the gene, that a carrier only has one copy is implied.



Sticky Note

2(c)Possibly could have had the "thicker" mark, but as there is no clear understanding of the mechanism and the thicker is not clearly referenced to the mucus, just missed out.
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Examiner
only


2. Cystic fibrosis is an inherited disorder that affects over 8,000 children and young adults in the 
UK. The disorder causes internal bodily secretions to become thick and sticky, and hinders the 
function of certain organs such as the lungs and digestive system.


 (a) Explain what is meant by the term ‘inherited disorder’. [2]


 


 


 


 


 (b) Explain the inheritance pattern that leads to a person having cystic fibrosis. [3]


 


 


 


 


 


 


 (c) Explain how cystic fibrosis affects the production of mucus by body cells. [2]
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Sticky Note

2(d)i. All mark scheme points covered well.



Sticky Note

2(d)ii. Again, a model answer, all mark scheme points well covered.
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Question Answer Mark AO1 AO2 AO3 AO4 


2. (d) (i) Award up to 3 marks for a detailed explanation. 


Likely answers may include: 


• thick mucus builds up in the lungs
• difficult to move
• troubling cough/wheeze
• recurring chest and lung infections


3 2 1 


(ii) Award up to 3 marks for a detailed explanation. 


Likely answers may include: 
• mucus blocks ducts in pancreas
• reduces quantity of digestive enzyme reaching


the gut
• less efficient digestion
• malnutrition
• large, odorous stools


3 2 1 








Sticky Note

2(d)i. Mark for "cannot easily be removed", one common confusion is the idea of excess production, for which there is no mark - the mucus "builds up" yes, which would get a mark, but because of the difficulty of removal. Breathlessness is a sensation, not a direct  effect on the lungs.



Sticky Note

2(d)ii. Blocks ducts, therefore lack of enzymes, failure of digestion. All three marks. Incorrect location in gut ignored.












Sticky Note

2(d)i. All mark scheme points covered well.



Sticky Note

2(d)ii. Again, a model answer, all mark scheme points well covered.












Sticky Note

2(d)i. Cough/wheeze and infections clear credit. Just enough explanation for the "difficult to move", although not clearly expressed.



Sticky Note

Malnutrition and large stools credited, but explanation for the mechanism is too vague for further credit.
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Examiner


only
 (d) Explain how the change in mucus production affects:


 (i) the lungs [3]


 


 


 


 


 


 


 (ii) the digestive system [3]
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Question Answer Mark AO1 AO2 AO3 AO4 


2. (g)  0-3 marks:  Answers that show some understanding 
of how lifestyle can be managed to minimise the 
effects of cystic fibrosis.  Answers convey meaning 
but lack detail.  Little or no use of specialist 
vocabulary. 
 
4-6 marks:  Answers that explain, with evidence of 
understanding, how some aspects of lifestyle can be 
managed to minimise the effects of cystic fibrosis.  
Answers convey meaning, with some use of 
specialist vocabulary. 
 
7-8 marks:  Answers that discuss accurately and in 
detail, with clear evidence of understanding, how 
several aspects of lifestyle can be managed to 
minimise the effects of cystic fibrosis.  Answers are 
well structured and clearly expressed.   Specialist 
terms used with ease and accuracy. 
 
Likely answers may include: 
 
Individual management will be recommended in the 
individual care plan.  Exercise is encouraged as this 
helps to shift the mucus, maintain body mass and 
general health, all of which assist in resisting the 
secondary infections which are a big risk of the 
disorder, enabling fuller involvement in social 
activities and reducing lost work time/school 
attendance.  Diet needs to be rich and varied to 
combat the general risk of malnutrition, with a 
particularly high calorie and protein balance. 


8  2 2 4 


 Total for Question 2 25 11 8 2 4 
 
  








Sticky Note

2(g) Good detail on the effects of exercise on the condition. Could be more detail on the diet - need for high calories, why balance is important. Not so good on the more general benefits of these, and failure to discuss the consequences for social interaction or work life.












Sticky Note

This candidate has largely relied on restating answers to 2(b). Enough additional detail for some credit. Needs to expand on exactly how these things improve quality of life, other than simply reduction of symptoms (which is relevant, but needs to consider some other aspects of quality of life).
















Sticky Note

Not all of answer included, so not a good example.
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only
 (g) Discuss the importance of diet and exercise in maximising the quality of life of an individual 


with cystic fibrosis. [8]
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